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H FZEAE | Ma | Mb | Mc | Md | Me | D1 | D2 | D3 | D4
VOFz — H-SL[ER H -5 110,171 80.06 | 68.51|59.5949.43|33.06|11.55|8.92 |10.16|16.37
VOF; —H-SL[ER H -9 109,904 82.2359.48 | 40.23127.66|19.3122.75|19.25| 12.57 | 8.35
VOF; —H-SL[ERH -HEA) 10,383 78.59148.99 | 34.2626.36|18.64|29.6 |14.73|79 |7.72
VOF; —H-SLERH -#EE(B) 63,837 78.45|49.95|34.20126.03]|17.82|28.5 |15.75|8.17 |8.21
POk —HB-SLERH -#EE(C) 33,719 75.88 | 48.78 | 35.21127.21119.12|27.1 |13.57|8 8.09
VOHz —B-IE[ERFH -#E(S) 1,274 57.56|39.12132.00126.16|17.99]18.4417.12 |584 |8.17
VUF; - R H (—)- TR A 8,895 84.96156.96 | 38.9530.12|21.65| 28 18.01|8.83 |8.47
VOF; —BH-BERLH (—)-B) MRS 4,614 66.6246.61|38.47|31.94]23.88|20.01]8.14 |6.53 |8.06
VOF; —H-HERH(—)-{ETE 1,417 90.50 | 77.33 | 64.24 | 49.1531.38 | 13.17| 13.09 | 15.09 | 17.77
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VOF; —H-HERLH (—)-skaTE 10,885 75.701 65.03 | 55.79| 46.1233.30|10.67|9.24 |9.67 |12.82
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IEEEZ — S-SR E () LR EH 556 65.12150.77143.00| 36.93 | 28.49 | 14.35|7.77 |6.07 |8.44
'T—q& S-ROREE () S 3,032 86.77174.99 | 64.50 | 51.14|34.25| 11.78 | 10.49 | 13.36 | 16.89
VOF; —HB-BHERH(—)-BimEf 1,599 7749 61.81|49.41|38.06|27.08]|15.68|12.4 |11.35]10.98
VOF; —H-HERLH(—)-BEt 1,955 81.66| 68.07|57.32147.50|35.13]13.59110.75]19.82 |12.37
VOF; —H-HERLH (—)- Bk 20,381 78.65]58.70 | 47.51140.32130.83|19.95|11.19]7.19 |9.49
VOF; —H-HERH(—)- /5 239 68.47157.42150.38|41.50]29.38| 11.05]|7.04 |8.88 |12.12
VOf; —EH-BEERLH (—)-/KERE 277 84.29170.96 | 58.79|44.21129.41|13.33|12.17|14.58 | 14.8
L\ E5
m&*ﬁ“ SERRHH () BiTERR 6 1,275 69.91]51.95|44.86|38.82129.94|17.96]|7.09 |6.04 |8.88
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g—;&** SRERRHE (- R T 15,959 78.36150.19 | 34.03 | 27.38 | 20.97 | 28.17| 16.16 | 6.65 | 6.41
VO —BH-BEERL H (—)-FEEE 7,361 80.86]65.75154.61|45.87|34.63|15.1111.14|8.74 |11.24
VOF; —H-BHERH(—)-BEMERE | 28,509 83.80]71.25]60.8950.7137.23|12.55]10.36 | 10.18 | 13.48
VOF; —H-EZERLH (Z)- e 8,897 84.71167.42|51.36|38.7426.18 | 17.29] 16.06 | 12.62 | 12.56
VUF; —B-EERLH (Z)-8 i iEE 4,615 65.9935.4829.1424.51]18.15|30.51|6.34 |4.63 |6.36
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VOf; “EH-BERLH(Z)-PEEE T | 22,688 83.79| 64.43 | 46.98 | 34.15|24.10]19.36| 17.45| 12.83 | 10.05
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VOF; —H-HERH(CD)-&mEt 1,594 81.06] 62.63147.9937.0825.99| 18.43 | 14.64|10.91 | 11.09
V—q&—* SRR H (- REERA R 2,427 86.28|74.67163.65|52.96|38.36|11.6111.02]10.69| 14.6
g%r{“ SRR E (2)-REERAE 5,529 75.90157.42147.90|40.91|31.14| 18.4819.52 |6.99 |9.77
@f§:§-§%$4a(:)-%¥ﬁi 1,954 92.24180.33|64.10]45.54129.58 | 11.91 | 16.23 | 18.56 | 15.96
#@E& — SRR () bR 6,157 74.741 62.90 | 53.77|43.10|26.91 | 11.84]9.13 |10.67|16.19
V—q&*“f SERRHH () haEEF HEE 2,497 73.19| 58.45|48.51]39.35|28.10| 14.7419.94 |9.16 |11.25
VO, —H-HEERH (D)-BkEE 20,447 77.50153.00|39.43|32.1224.11|24.5 |13.57|7.31 |8.01
VOF; —H-HERH(Z)-BEEE 234 67.87147.49136.94|30.72|24.38 | 20.38 | 10.55 | 6.22 | 6.34
VOF; —H-HERH(Z)-/KER 278 80.80]67.89|57.4646.29|32.61|12.9110.43|11.17]13.68
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Me=Fij 80%(RZ) ~ 100%(Z) 2k 1395585




